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fil bl i H AT ¥ &
AR HP ¢ 250mm m 88.5
HEEIE R HP ¢ 250mm m 85.0
BIRIE & HP ¢ 250mm m 86.7
AR HP ¢ 250mm m 1.7
HEME A 50N/mm2 (1FE 4 L=1.00m h7—FY R 88
HetE T W EEE TN HEET Bk m/H m
HERETIUN MIEA®ERE: 6.0 m/H m 85.0
RAETOS L HM4Y&E: 1.09 m®/H m
ke m® 15
A7) 23 XY L HP ¢ 250mm W AdERE: 40.0 m/HA m 85.0
1+ A T ( HP ¢  250mm ) #OF &
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FEAEHI O T HP ¢ 250mm T 2
FEN AL HP ¢ 250mm {5 T 2
S T HP ¢ 250mm  /]MEISTHL 2.4 m/fEFT | R 2
BEHEYI0 T HP ¢ 250mm  /MISTHT 2.4 m/fEgT | T 2
HEitE s eI A E T S BPEt T 2
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L3= m m - m = m
L4= m m - m = m
YL= 84.95 m m 84.95
BRI R M14~M15 L1= 72.95 m 045 m - 0.45 m = 72.05 m
HEMESS ' HP ¢ 250mm M15~M16 1.2= 15.50 m 045 m - 0.45 m = 1460 m
[.3= m m - m = m
L4= m m - m = m
AYLT — 7 TIE YL= 86.65 m m 86.65
BRI E HP ¢ 250mm L= 86.65 m 84.95 m = 1.70 m m 1.70
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HELT 4 1 3.1 3.1 m3 3
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0. 89
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G5 o L V=12.87 + 393 - 31 /0.9 = 13.36 m3 13. 36 13.4|m3
S %% Con (18N-8-40) t=0. 37 < AR—NVTIZTE B
JEAEConlZ oY




£ 7 =
MHLEET ¢ 1500
TE H M-14 V=16 B
i H| WL T (e fii %
& Bl TE I

JFNHR B FEA 2> 1 0. 8h/m itk 1. 30 1.30 m 1.3

0.9h/m [ 3. 97 3.83 7.80 m 7.8

1. 0h/m T+ m

1. 0h/m m

¢ 1500
br— s JUET 4. Tm /&7 1 1| T 1
TR r—y 73 LT ¢ 1500 0.90 0.90 m 0.9
=y i s ¢ 1500 1 1 2 11T 2
BT AT ¢ 1500 10. 43 10. 39 20. 82 m 20. 8
AT T T r=v/) E 0. 68 0. 66 1.33 t 1.3
JEAE T T s ) — MR 1.80 1.80| m3 1.8
A BRER B 25 1 1 1 =l 1
K GEGRE - PR T [71

t=12mm
TR O R ¢ 1500 4. 40 4. 40 m 4.4
T ok Sedi A5 1 1 = 1

L=2. 00m
B MR E R —3 v 7 1 1 = 1
SEHTHEK 2 7KK L 1 1 @ 1
HE7K QLB T iR AT A DALY T 0.70 0.70| m3 0.7

(D7) 0.73 t

B 1P R ¢ 1500 1 1 2 & 2
PR L L a7 Y—F  |18N-18-40 2.2 .4 4.6 m3 5
HR LT 4 1 1.2 .2 2.4 m3 2
%Ly L 5.3 .4 12.7| m3 13
IR RC-30 < R —L LI TE LT 5, m3




T fE AR — ST ® 1500

N2 HTNo. M-14 g W B
1L M 4 T 4% FE S = VI S O N | < S ([ | —
= N B AR A 4 T ¢ 1500 L=3.97m $¢H29 T /K T8 3% 5 v 25 i P440 = 3.97 3.97
Rtk N>5| Im Y EENESE T HFRIa=0. 8h/m 1= 0.00 m
WELE N=30| 1m0 IEAE)E TRER2=0. 9h/m 1= 3.97 m
BYE 1 N=30| Im¥4 Y FEAENE T-KEfa=1. 0h/m 1= 0.00 m
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Ao 7 ) — MTRL ¢ 1500 V= 1.8 m3 = 0.0
$H29 T 7K 8 G HE AR P444
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T FE R —y VST # 1500
57 5iNo. M-14 S ¥ =
T FE 4 I £k = o N S O N
(= ® o #)
SR — T 61,500 t = 12 mm L =0.000 X 1K = 0.00 (m)
= 61,500 t = 12 mm L=0.000 X 0A& = 0.00 (m
A= 61,500 t = 12 mm L =0.000 X 14 = 0.00 (m)
R — v 61,500 = 12 mm L=0000 X 14 =000 (m
= TR 61,500 t = 12 mm (& # )
L=0.00+0.00+000= 000 (m 0.00 |m
S — EX 61500 n = 1 =K 0 |
g r — v 7488 61,500 t = 12 mm L =0.000 (m X 1(A&%) (1 fEETHn) 0 |z
2 KPR ¢ 1500 0 |@mr
AT A LIS ¢ 1500 V= m3  (1EFTE L) 0 |
IR E $H29 K E I RR B HE HE A P 448
®om s L (& # ) ¢ 1, 5007 B Thi ke 1 0 1|
18 THGRE L 0 |
1% TARBARH T VBEIZIS TR E 0 |
BN E L L st




T fE AR —y VST ¢ 1500
37 HiNo. M-14 g ¥ =
1L M 4 Bk FE S = VI S O N | < S ([ | —
HELT ayzJ—+h PEEI 1. om0 +& v 1.77 m3
(18N-8-40) V =(3.97 +0.03 -1.50) X 1.77 = 4.43 m3 | = 4.43
(B ) i
FHEECo =)Vl = (7 X 1.5"2 = 4) X 0.00 = 0 m3| = 0
I (=)ve = m3 = 0
& AR E (5)V3 = (7 X 1,102 = 4) X 0.13 = 0.12 m3 | = 0.12
i = (V4 =( 7 X 0.36°2 = 4) X 0.23X1 = 0.02 m3| = 0. 02
V5 =( 7 X 0.22°2 = 4) X 0.23x1 = 0.0l m3]| = 0.01
K i (-)ve = (7 X 1.05°2 ~4) X 2.37= 2.05 m3 | = 2. 05
+4.43[  -2.20 +2.2|m3
A+
V=(.50-02 ) X 1.77 = 2.21 m3 = 2.21
i ® H)V7 = (7 X 1.05°2 - 4) X 0.93= 0.81 m3| = 0. 81
= B (-)V8 = (7 X 09072 ~4) X 0.30= 0.19 n3 | = 0.19
S R (=)V9 = (7 X 0.82°2 = 4) X 0.02= 0.0l m3]| = 0.01
+2. 21 -1.01 +1. 2|m3
P A4y T V= +4.43 + 2,21 — 1.20/0.9 = 5.31 m3 | = 5.31 5. 3|m3
FMHCo (18N-8-40) £=0. 00
JEMZConlE DY t=0. 02 V= (7 X 1.5"2 = 4) X 0.02 = 0.03 m3 | = 0.03 0.03|m3
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T M 4 T A% FE S = VI S O N | < S ([ |
JH NS B A A T ¢ 1500 L=5.13m $¢H29 T /K T8 3% 5 v 25 i P440 = 5.13 5.13|m
Rkt N>5| 1m0 EERESE T HFRIa=0. 8h/m 1= 1.30 m
WHE L N=30[ Im v fEAE T RER]2=0. 9h/m 1= 3.83 m
B+ N=30 1m3Y4 0 EEYAERE THRERa=1. 0h/m 1= 0.00 m
B N>30[ 1m Y AR HERE THRFRa=1. Oh/m 1= m
= TR ¢ 1500
t = 12mn L= 470 m  (IEATS D) KH20 FREABGHRERHPL
n=1 W@e = 1|
r—v 75 E BT ¢ 1500 L= 0.90 m = 0.9|m
= TRET 61,500 t = 12 mm n = 1. 0f& T = 1|f& P
r—3 IR L=150 X n +1.42 X 4 = 10.39 (m) = 10. 39 10. 39|m
AT TS br— o TEE WL = 1,42 X 447 (kg/m) = 635  (kg) = 635 0. 635
W2 =7 /4% (0.36+0.2) "2X94. 2kg/m2 = 23 0.023
= 0
0.66 |t
EMEa 7 U — MTERT ¢ 1500 v = 1.8 m3 = 1. 8|m3
7 SCH29 T 7K 3R FHE HE A P44
bR X RS T n=1 [ = 1{[A]
R ERE « PR L n=20 [A = 0=l
o Ok T i - B n = J R = 1{[A]




T fiE SR — VST ¢ 1500
7 HiNo. M-16 g R
T B 4 ok L S VI S O N (= |
(- ® ® ¥
SeHEr— T 61,500 t =12 mm L=2400 X 1A =240 (m 2. 40
W= s 61,500 t=12mm | L =0.000 X OA& =  0.00 (m)
W — 7 61,500 t=12mm [ L =2.000 X 1A =200 (m 2. 00
R r—v 7 61,500 t=12mm | L =2.000 X 1A = 2,00 (m) 2.00
r—v ek ¢1,500 t =12 mm (& B )
L=240+0.00+200= 440 (n) 4.40 |m
e — 7 EF ¢ 1500 n = 2V IV
K% — v v e 61,500 t=12mm | L =2.000 (m) X 1(&K%}) 1 Epr4En) 1K
2 KPR ¢ 1500 1 |57
R G A DAY ¢ 1500 V= 0.7 w3 (fEHFTYY) 1|
e & H29 T 7K JHERE HMEUE AR H P 448
EOTTRE S C & B ) ¢ 1,500/ S T Y 1 X
72 THGRIE T 1 |
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T FE R —y VST ® 1500

jtﬁNO. M-16 %LLEI{E %{é( %
T M 4 Bk FE S = VI S O N | < S ([ | —
LT ar 7 J—h JEED 1. om0 +& v 1.77 m3
(18N-8-40) V=(513 +0.05 -1.50) X 1.77 = 6.51 m3 | = 6.51
(B ) i
FHEECo =)Vl = (7 X 1.5°2 = 4) X 0.00 = 0 m3| = 0
JE - (=)ve = 1.8 m3 = 1.8
& AR E (-)V3 = (7 X 1,102 = 4) X 0.13 = 0.12 m3 | = 0.12
Eii (V4 =( 7 X 0.36°2 = 4) X 0.23X1 = 0.02 m3| = 0. 02
G i (=)Vv5 = (7 X 1.05°2 ~4) X 2.55 = 2.21 m3| = 2.21
+6. 51| —4.15 +2.4
A+
V=(.50-02 ) X 1.77 = 2.21 m3 = 2.21
o [E (-)V6 = (n X 1.05°2 - 4) X 0.75 = 0.65 m3| = 0. 65
= B (VT = (7 X 09072 = 4) X 0.45=0.29 m3 | = 0.29
S R (-)V8 = (7 X 0.82°2 = 4) X 0.06= 0.03 m3 | = 0.03
+2.21]  -0.97 +1.2
P 1ALy T V= 14651 + 2.21 — 1.20/0.9 = 7.39 m3 | = 7.39 7.4

FHECo (18N-8-40) t=0. 00
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bicd 1] [ 51| e i c Bl AR ¥kl N &R M kW B W B L+
AR 4y 4y S 1 m m m H
1,656 3.900 8.670
Mi4 F | F 9 3 69.70|  209.10 10.8 552 1.300 2.890 0.28
1,590 3.900 9.360
MIST | e 3 70.08|  210.24 10.8 530 1.300 3.120 0.28
1,584 3.900 9.300
MI5E | E FE 3 69.83]  209.49 10.8 528 1.300 3.100 0.28
1,569 3.900 9.180
MI6F |F % 3 69.28| 207.84 10.9 523 1.300 3.060 0.28
HEA RIS - gk T (k) N=1£&7F
EZS 7 1 m m m H
B ENEE (AR 12 — 836. 67 — 6, 399 15. 600 36.510 1.12
- = (1ARMY) — — 69. 72 — 533 1. 300 3. 040 —
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1. & # M4 £ BENT I LR
BIfE | Ak | THE W E = B
T B |TFHNfE| Lo L1 L2 [5 = | 1
(m/A) | (m/Z) (m) (m) (m) (m2)
| L 4 1.30 0.48
BEL 3 2.89 1.02 1.50 2.00 3.00
Byt
& 419 1.50 2.69] EAXBE) 3]
2. X AKX (EMEA )
5] e R R % E
*r ® N f& o FIEE | GEAE | RTAE | FAE
%) a (%) % a %) (%)
w3 [ 0~4 70 55 385 50 35.0
Mt | oL | 4~8 60 50 30.0 45 27.0
#otz | 8~15 50 30 15.0 25 125
P3| 0~10 50 80 40.0 70 35.0
— WEL | P L | 10~30 40 80 32.0 70 28.0
for- | 3oLk 30 70 21.0 60 18.0
Y S8 P3| 10~30 50 80 40.0 70 35.0
; WE+ | B oz | 30~50 35 80 28.0 70 24.5
#of= | 50LLE 25 80 20.0 70 17.5
Bor. No. \ 0] \ \ \ EZS] |
L e | \ \ \ \ \
FIEE P=e./(1+e)x100 = %
EAFRTAE a=
4=} = ¥4 o e i}
EXY RCAE EPNE
T B | FHNE| HEE |HREE @ (%) Qs (L)
(%) (m3) Bk | BER Bkl | BER
Pl 4 60 0.480 50 144
BwELT 3 50 1.020 80 408
et
B 1AR4Y 1.500 552
. By — 1656
4. 1THZYEAE 1) ZE{REFRS Ti= = 14.00
2) EIFLEERS T2= Z(71xL0) = 19.65
3) AR T3= Qs.”gs = 30.67
4) T4 5| HREFR T4= r2xL2 = 5.38
BlIREAIEREER v 2= 20 9/m
1R B Y HE TR Ts= 69.70 53/
_HIFLO B {E #(5)/m) _BTRR L UEA (/D)
+ @ [ et | mHEL | fhEE I & % HEAX [FEAN
x| 8.0| 50| 40] l gs \ 18] 16]
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et
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2. F A X (EEBER)

[5]ES b U % E w
200 + B N & 0 FHEE | FAER | RTAER | ZAE
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w3 [ 0~4 70 55 38.5 50 35.0
Al ) et | b G | 4~8 60 50 30.0 45 27.0
fof- | 8~15 50 30 15.0 25 125
BB | 0~10 50 80 40.0 70 35.0
= wEL | P | 10~30 40 80 32.0 70 28.0
8 #or- | 30 E 30 70 21.0 60 18.0
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2) BIFLEFR T2= > (r1XL0) = 20.80
3) JEARFRE T3= Qs.”as = 29.44
4) T 4551k EERE T4= y2xL2 = 5.84
BIiRBAERRER  v2= 20 %/m
1ARHY i TR Ts= 70.08 5/7
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| HEHET 4 1.30 0.72
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et
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2. F A X (EMEA)
[5]ES b U % E w
+ B N & 0 FHEE | FAER | RTAER | ZAE
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w3 [ 0~4 70 55 38.5 50 35.0
L | o 4~ 8 60 50 30.0 45 27.0
fof- | 8~15 50 30 15.0 25 125
BB | 0~10 50 80 40.0 70 35.0
wEL | P | 10~30 40 80 32.0 70 28.0
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BIiRBAERRER  v2= 20 %/m
1ARHY i TR Ts= 69.83 53/

5. THHYBT A

. BIFLD B fE R BRI (5 /m)
| T B | #ESL | BT | wEL

5.0]

y1 | 8.0/

4.0]

X HERRLUTAZ/)
| I & % BEEAR [HEG

gs

18] 16]

N= (60xH) Ts X 2

HEERH H=

6.3 B

(Byb) =

108 X/B
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(FREZESEVIZLD,)

1. & & M16TF FAEITH T
BlfE | ZAE | ThE W E &N
T B |FHNfE Lo Lt L2 [ E & "
(m/A&) | (m/&K) (m) (m (m) (m2)
B 4 1.30 0.77
wEL 3 3.06 0.73 1.50 2.00 3.00)
BEL
£ 4.36 1.50 2.86] FARHK) 3]

2. F A X (EEBER)

[5]ES b U % E w
+ B N & 0 FHEE | FAER | RTAER | ZAE
(%) o (%) (%) () (%)
w3 [ 0~4 70 55 38.5 50 35.0
L | o 4~ 8 60 50 30.0 45 27.0
fof- | 8~15 50 30 15.0 25 125
BB | 0~10 50 80 40.0 70 35.0
wEL | P | 10~30 40 80 32.0 70 28.0
#of= | 30tk 30 70 21.0 60 18.0
P3| 10~30 50 80 40.0 70 35.0
MELE | B fL | 30~50 35 80 28.0 70 24.5
’- 200 W otz | 50LLE 25 80 20.0 70 17.5
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; ElED] —_ 1569
4. 1A%YEAR 1) ZE{EFRS Ti= = 14.00
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3) SEABSRHE T3= Qs.”as = 29.06
4) T 4551k EERE T4= y2xL2 = 5.72
SIIREAERER 2= 20 %/m
1A E Y HE TR Ts= 69.28 43/
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| A 8.0/ 5.0] 4.0] | gs | 18] 16]
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[ #hh ] Boe B/ &/ M o’ L % R X
() TIx
4 %ok b AL adk | i |
No.1 | No.2 | No.3 | No.4 | No.5 | No.6

ARSI BH 0. 13m3 212. 10 212.10] m3 210)
R BIl 0. 28m3 420.30]  23.10 30. 60 8.00 482.00] m3 480)
I (JE A1) BH 0.13m3 150. 20 150.20| m3 150)
BT LG LSS BH 0. 28m3 271.50]  12.40 20. 40 4. 60 308.90| m3 310)
BRI (1) BH 0. 13m3 44. 20 44.20] w3 44]
KB (D) BH 0. 28m3 87. 70 6.10 6. 00 1. 90 101.70| m3 100
ke w551 BH 0. 13m3 2tHT 45. 20 45.20] m3 45
G cta o B Bl 0.28m3 4t H 118. 60 9.30 7.90 2.90 138.70| m3 140
b M BH 0. 13m3 11.65 11.65] m3 12)
LT Y IR BH 0. 28m3 23. 16 1.72 1.76 0.59 27.22| m3 27
38.87| m3 39
Ry ARG R 231.57| 28.62| 116.52 18.00] 11.00 105.71] m 105. 7
FEIE $ 200mm 241.30]  29.00] 120.10 390.40| m 390. 4
FEAMIE ¢ 150mm 18.00]  11.00 29.00] m 29. 0
BRIE R $ 200mm 231.57| 28.62| 116.52 376.71] m 376. 7
RIS ¢ 150mm 17.55]  10.70 28.25| m 28. 3|
T MRZ O R EE ¢ 200mmX4. 00m 204.00]  28.00] 104.00 336.00] m 336. 0
84| & 84]

2 MRS T L Z S ¢ 150mnX 4. 00m 16. 00 8.00 24.00] m

6] A&
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AT 1) K 11]
7 V-vas b e ¢ 150mmx 4. 00m 1.55 2.70 4.25] m 4.3
2| K 2)
PRy $ 200mm 11.0 1.0 3.0 18] {4 18
"Ll oMEF $ 150mm 1.0 1 A 1
[EREEE ¢ 200mm 5.0 2.0 7 7

B (E# ¢ 150mm
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R e = 200 mm FER E B = 3.00 mELF
KMMEE= 005m i il i i = 0.28 m’BH
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4858-1| M105 | 8.65/3]0.30] 1.86] 1.81] 7.90] 7.90| 4.00] 3.90| 15.2] 9.9 3.0 1
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